sin 0° X cos 60° + cos 0° X tan 45° — sin 45° X tan 60° =7
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2. 0°<x<90° €U, & T 2> A2?
@ 0<cosx<1 @ 0<sinx<1 @ 0<tanx<1

@ -1<tanx<0 B -1<sinx<1



@D 39°

o] TE Hlsinx = 0.6691 & o, x o] 727
2t | AFQl(sin) | EAFRl(cos) | EtMIE(tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
471° 0.6561 0.7547 0.8693
4 0.6691 0.7431 0.9004
® 40° B 41° @ 492° B) 45°






3 2
@ cosA:%/_, tan A = 1 @ cosA:T\/—, tan A = 2
1
® cosA =243, tanA =1 @ cos A = 33, tanA:§
2
® cosA:%/_, tanA =1



12
6. sin(90°-A) = 3 A o, tanA O] 27 (F, 0°<A <90°)
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o2 1ol A A 4x - 5y +20 = 03 x
59| o] REo] o] = ZF ot & o,
tan 69| Ff27

S I N
I

N | =




o2 Tt Zo] ¥k 5-9] Zol7b 191 AR
o tjsto] /DAB = x, ZADB =y, /DEC = ¢
g o, o F &2 42 A2

@® siny =sinz @ tany = tanz

® tanx = CE @ cosz=sinx

B cosz=1




o2 1 o] AsHAoA LAGE = x 2
I, sinxxcosx o] FH& FF AR
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10. x=30°22 & o, sinx, cosx, tanx2 dAE vt HL?

@ sinx < cosx < tan x @ cosx < tanx < sinx

@ sinx < tanx < cos x @ sinx < cosx = tanx

B tan x = sin x < cos x



11. sin(2x-10°) = ? Ao, x O] ZE27 (T, 0°<x<45°)

@D 15° @ 20° 3) 25° @ 30° B 35°



12. ok 2olA AABC ©f Holg 78}

A
49°
.
B~< P
“~-10em -~ ¢
(M| &)

T sin © cos tan z
49° 0.66 0,74 0.90
43° 0.68 0.73 0.93
44° 0.69 0,72 0,97

@ 33cm? @ 37cm? ® 45cm?

@ 72 cm?2 B 90 cm?2



13 D]'——-: g o
. = 1 = _,] ()1 1 Ie) T o
AABC ]/\ sin x _,] 7]3}\___‘7




14. o5 93 Zo] AABC 9
4] BCLAD, ACLDE, /ABD

ne

(DAE = 60°, AB = 10cm
o, CE ¢] Zo]&?
1
® 4+v3cm @ 5v3cm ® 52\/§cm
12
@ vgcm ® 5cm
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